ANALISI DI REGRESSIONE 1 (PWB ~ supporto sociale * stress)

VD: Autonomia (A)

Model Summary - benAmean

Model R R? Adjusted R? RMSE
Ho 0.000 0.000 0.000 0.750
H; 0.347 0.120 0.109 0.708
ANOVA
Model Sum of Squares df Mean Square p
H, Regression 16.330 3 5.443 10.854 <.001
Residual 119.360 238 0.502
Total 135.690 241

Note. The intercept model is omitted, as no meaningful information can be shown.

Coefficients
Model Unstandardized Standard Error Standardized t p
Ho (Intercept) 4,486 0.048 93.013 <.001
H. (Intercept) 3.922 0.458 8.569 <.001
stress_mean —0.059 0.220 —0.053 —0.266 0.791
SS_MEANTOT 0.196 0.086 0.335 2.283 0.023
stress_mean s SS_MEANTOT —0.039 0.043 -0.192 -0.903 0.367




VD: Controllo ambientale (EM)

Model Summary - benEMmean

Model R R2 Adjusted R? RMSE
Ho 0.000 0.000 0.000 0.844
H, 0.658 0.433 0.425 0.640
ANOVA
Model Sum of Squares Mean Square F p
H, Regression 74.311 3 24.770 60.474 <.001
Residual 97.486 238 0.410
Total 171.797 241

Note. The intercept model is omitted, as no meaningful information can be shown.

Coefficients
Model Unstandardized Standard Error Standardized t p
Ho (Intercept) 4.451 0.054 82.010 <.001
H, (Intercept) 4.267 0.414 10.315 <.001
stress_mean —0.485 0.199 -0.387 —-2.438 0.015
SS_MEANTOT 0.258 0.078 0.392 3.323 0.001
stress_mean :x SS_MEANTOT —0.035 0.039 -0.153 —0.895 0.372




VD: Crescita personale (PG)

Model Summary - benPGmean

Model R R2 Adjusted R? RMSE
Ho 0.000 0.000 0.000 0.665
H, 0.485 0.235 0.225 0.586
ANOVA
Model Sum of Squares df Mean Square F p
H, Regression 25.044 3 8.348 24.341 <.001
Residual 81.624 238 0.343
Total 106.668 241

Note. The intercept model is omitted, as no meaningful information can be shown.

Coefficients
Model Unstandardized Standard Error Standardized t p
Ho (Intercept) 4,816 0.043 112.601 <.001
H, (Intercept) 4.339 0.378 11.464 <.001
stress_mean —-0.153 0.182 -0.154 —-0.838 0.403
SS_MEANTOT 0.209 0.071 0.402 2.938 0.004
stress_mean :x SS_MEANTOT —0.038 0.036 -0.211 —-1.064 0.289




VD: Relazioni positive con gl

Model Summary - benPROmean

i altri (PRO)

Model R R2 Adjusted R? RMSE
Ho 0.000 0.000 0.000 0.871
H, 0.645 0.417 0.409 0.669
ANOVA
Model Sum of Squares df Mean Square p
H, Regression 76.134 3 25.378 56.631 <.001
Residual 106.655 238 0.448
Total 182.788 241

Note. The intercept model is omitted, as no meaningful information can be shown.

Coefficients
Model Unstandardized Standard Error Standardized t p
Ho (Intercept) 4,535 0.056 81.014 <.001
H, (Intercept) 3.877 0.433 8.962 <.001
stress_mean -0.567 0.208 —0.438 —-2.725 0.007
SS_MEANTOT 0.275 0.081 0.406 3.394 <.001
stress_mean :x SS_MEANTOT 0.027 0.041 0.115 0.667 0.506




VD: Scopo nella vita (PL)

Model Summary - benPLmean

Model R R2 Adjusted R? RMSE
Ho 0.000 0.000 0.000 0.824
H, 0.596 0.355 0.347 0.666
ANOVA
Model Sum of Squares df Mean Square p
H, Regression 58.126 3 19.375 43.675 <.001
Residual 105.584 238 0.444
Total 163.710 241

Note. The intercept model is omitted, as no meaningful information can be shown.

Coefficients
Model Unstandardized Standard Error Standardized t p
Ho (Intercept) 4,618 0.053 87.159 <.001
H, (Intercept) 3.977 0.430 9.238 <.001
stress_mean —0.345 0.207 —0.282 —1.665 0.097
SS_MEANTOT 0.287 0.081 0.447 3.552 <.001
stress_mean :x SS_MEANTOT -0.027 0.041 -0.119 —0.655 0.513




VD: Autoaccettazione (SA)

Model Summary - benSAmean

Model R R2 Adjusted R? RMSE
Ho 0.000 0.000 0.000 0.965
H, 0.673 0.453 0.446 0.718
ANOVA
Model Sum of Squares df Mean Square F p
H, Regression 101.797 3 33.932 65.761 <.001
Residual 122.806 238 0.516
Total 224.603 241

Note. The intercept model is omitted, as no meaningful information can be shown.

Coefficients
Model Unstandardized Standard Error Standardized t p
Ho (Intercept) 4,374 0.062 70.488 <.001
H, (Intercept) 3.606 0.464 7.767 <.001
stress_mean -0.370 0.223 —-0.258 —-1.659 0.098
SS_MEANTOT 0.391 0.087 0.520 4.494 <.001
stress_mean :x SS_MEANTOT —0.069 0.044 -0.264 —-1.578 0.116







